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Note : (i) Attempt any five questions.  

 (ii) All questions carry equal marks. 

1. (a) Discuss any five reasons why early 

childhood development interventions is 

needed. 10 
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(b) Explain the three methods of teaching 

emphasized  by Rabindranath Tagore.  

10 

2. (a) What do you understand by the term 

‘child with special needs’ ? Explain with 

examples. 10 

(b) What is the difference between 

‘Impairment’ and ‘Handicap’ ? Describe 

with examples. 10 

3. (a) Explain any two emotions experienced 

by parents when they realize that their 

child has a disability. 4+4   

(b) Explain giving examples, three 

environmental factors that lead to 

behavioural difficulties in children.  

4+4+4   
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4. (a) Briefly describe any five characteristics 

of a child who has mental retardation 

(now known as intellectual disability).  

10 

(b) State any five principles that a 

caregiver needs to keep in mind to help 

the child with hearing impairment 

understand the speech of others. 10 

5. (a) (i) Who are the beneficiaries of an 

Anganwadi ? 2 

(ii) List all the services provided to the 

beneficiaries.  6 
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(iii) Name two field health 

functionaries directly associated 

with the ICDS programme. 2 

(b) Describe any five challenges 

implementing the ICDS programme. 10  

6. (a) Describe the principle of iintegration at 

various levels in the organization 

‘Mobile Creches’. 10 

(b) What are the different functions 

involved in the management process ? 

Describe any one in detail. 10  

7. (a) Describe the activities of any one 

national level voluntary organization 

working ffor young children. 5   
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(b) Explain any two problems from the 

point of view of the receiver that can 

create barriers in the communication 

process, giving examples. 5+5 

(c) List any five characteristics of a child 

with cerebral palsy. 5     

 

 

 

 

 

 

 

 

 

 

 



 [ 6 ]  DECE–3 

A–27/DECE–3 

 DECE–3 

izkjfEHkd ckY;koLFkk ns[kHkky  

vkSj f'k{kk esa fMIyksek 

(Mh- bZ- lh- bZ-) 

l=kar ijh{kk  

twu] 2025 

Mh-bZ-lh-bZ-&3 % cPpksa ds fy, lsok,¡ vkSj dk;ZØe 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % (i) fdUgha ik¡p iz'uksa ds mÙkj nhft,A 

 (ii) lHkh iz'uksa ds vad leku gSaA 

1- (d) fdUgha ik¡p dkj.kksa ij ppkZ dhft, tks fl¼ djrs gSa 

fd izkjfEHkd ckY;koLFkk ds nkSjku vUr%{ksiksa dh 

vko';drk gSA 10 
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([k) johUnzukFk VSxks sj us f'k{k.k dh ftu rhu fof/k;ksa ij 

cy fn;k gS] mUgsa le>kb,A 10 

2- (d) ̂ fo'ks"k vko';drkvksa okys cPps* ls vki D;k 

le>rs gSa \ mnkgj.k lfgr le>kb,A 10 

([k) ̂ {kfr* vkSj ^v{kerk* esa D;k vUrj gS \ mnkgj.k 

lfgr o.kZu dhft,A 10 

3- (d) ekrk&firk }kjk vuqHko fd;s x;s fdUgha nks euksHkkoksa 

dh O;k[;k dhft,] tc mUgsa vius cPps dh 

v{kerk dk irk pyrk gSA 4$4 

([k) cPpksa esa O;ogkj lEcU/kh leL;kvksa dks tUe nsus 

okys rhu ifjos'k&lEcU/kh dkjdksa dks mnkgj.k nsdj 

le>kb,A 4$4$4 
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4- (d) ekufld eanrk (ftls vc ckSf¼d fodykaxrk ds 

:i esa tkuk tkrk gS) okys cPpksa dh fdUgha ik¡p 

fo'ks"krkvksa dk la{ksi esa o.kZu dhft,A 10 

([k) fdUgha ik¡p fl¼kUrksa dk mYys[k dhft, ftUgsa 

ns[kHkkydrkZ dks /;ku esa j[kuk pkfg, rkfd Jo.k 

nks"k ls xzLr cPps nwljksa dh Hkk"kk le> ldsaA 10 

5- (d) (i) vk¡xuckM+h ds ykHkkFkhZ dkSu gaS \ 2 

(ii) ykHkkfFkZ;ksa dks iznku dh tkus okyh lHkh 

lsokvksa dh lwph cukb,A 6 

(iii) vkbZ-lh-Mh-,l- dk;ZØe ls lh/ks rkSj ij tqM+s 

nks {ks=h; LokLF; dk;ZdrkZvksa ds uke crkb,A 

  2 
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([k) vkbZ-lh-Mh-,l- dk;ZØe dks dk;kZfUor djus esa 

fdUgha ik¡p pqukSfr;ksa dk o.kZu dhft,A 10 

6- (d) ̂ eksckby Øsp* laxBu esa fofHkUu Lrjksa ij ,dhdj.k 

ds fl¼kUr dk o.kZu dhft,A 10 

([k) izcU/ku izfØ;k esa dkSu&ls fofHkUu dk;Z  

lfEefyr gSa \ fdlh ,d dk foLrkjiwoZd o.kZu 

dhft,A  10 

7- (d) NksVs cPpksa ds fy, dk;Z djus okys jk"Vªh; Lrj ds 

fdlh ,d LoSfPNd laxBu ds fØ;kdykiksa dk o.kZu 

dhft,A  5 
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([k) izkIrdrkZ ds n`f"Vdks.k ls fdUgha nks leL;kvksa dh 

mnkgj.k lfgr O;k[;k dhft, tks lapkj izfØ;k esa 

ck/kk,¡ mRiUu dj ldrh gSaA 5$5 

(l) izefLr"d ?kkr ls ihfM+r cPps dh fdUgha ik¡p 

fo'ks"krkvksa dks lwphc¼ dhft,A 5 

× × × × × 

 

 

 

 

 

 

 

 

 

 

 


